
13

PARTS DIAGRAM & LIST

Please visit our website www.uniqueappliances.com to view a PDF 
version of the schematics which will allow you to zoom in & out 

ITEM # PART # DESCRIPTION
1 UGP-BCD275215-01 Plastic top cover
2 UGP-BCD275215-02 Screw M5x16
3 UGP-BCD275215-03 Upper hinge group
4 UGP-BCD275215-04 Ceiling light group
5 UGP-BCD275215-05 Screw ST4.2x16
6 UGP-BCD275215-06 Cover fixing base
7 UGP-BCD215-07 Cabinet
8 UGP-BCD275215-08 Adjustable foot
9 UGP-BCD275215-09 Lower hinge parts
10 UGP-BCD275215-10 Low adjustable foot1
11 UGP-BCD275215-11 Low adjustable foot2
12 UGP-BCD215-12 F Evaporator
13 UGP-BCD215-13 Left stop block
14 UGP-BCD215-14 Ornament strip for evaporator 1
15 UGP-BCD215-15 Ornament strip for evaporator 2
16 UGP-BCD275215-16 Right stop block
17 UGP-BCD215-17 Upper drawer
18 UGP-BCD215-18 Bottom drawer
19 UGP-BCD275215-48 Ice scoop
20 UGP-BCD275215-47 Wine rack
21 UGP-BCD275215-25 Door switch
22 UGP-BCD275215-26 Middle hinge
23 UGP-BCD215-23 Screw ST4. 2x10
24  UGP-BCD215-24 Glass shelves
25 UGP-BCD215-25 Crisper drawer cover
27 UGP-BCD215-27 Chrome trim for glass shelves
28 UGP-BCD215-28 Crisper drawer
29 UGP-BCD215-29 Upper door seal
30 UGP-BCD275215-35 Top door rack
31 UGP-BCD275215-36 Bottom door rack
32 UGP-BCD275215-37 Top hinge group
33 UGP-BCD275215-38 Chrome trim for door racks
34 UGP-BCD215-34 Upper door
35 UGP-BCD275215175-40 Fixed base for handle
36 UGP-BCD275215175-41 Handle
37 UGP-BCD275215175-42 Screws M5*8
38 UGP-BCD275215175-43 Screws M5*8
39 UGP-BCD275215-44 Door stopper
40 UGP-BCD215-40 Bottom door seal
41 UGP-BCD215-41 Bottom door
42 UGP-BCD275215-54 Process tube
43 UGP-BCD215-43 AC Compressor
44 UGP-BCD275215-51 Screw M4X10
45 UGP-BCD275215-52 Flat head screw
46 UGP-BCD275215-53 Power supply cord with plug
47 UGP-BCD275215-54 Compressor base
48 UGP-BCD275215-55 Back cover
49 UGP-BCD275215-56 Fixing clamp for drying filter
50 UGP-BCD275215-57 Drier filter
51 UGP-BCD275215-58 Drip tray
52 UGP-BCD275215-23 Ice tray


